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Binary Sudoku:

This Sudoku variant contains the numbers 0 and 1. Only two equal numbers can be placed next to each
other (horizontal and vertical). In each row and column the numbers or positions filled with O are
equal with the ones filled with 1.

Example:

17170]1]1]0l0l1]0]0
ol1]1]0]/0]1]1]0/0]1
170l0/1(0l0o[1(0]11
olo(1]0/1]1]/0]1[1]0
0(1(1/0]/0]1]1]0/0]1
110l0/1[1[o[1[0]1]0
ol1/0[1]0]1]0]1]0]1
1707101 (0o[1(0]1]0
ol1/0l1]1]0]0]1]0]1
110l1]olo[1[o[1]1]0
Solutions:

(171 [ ]

There are two positions filled with a 1 next to each other, so left and right the solution are: 0.

[0[af1]o] |

1] [a1] |

Only a 0 can be placed between the two positions filled with 1.
[1Jof1] |
(1] J[1fJ1fofafJof 1]

The five numbers 1 are already filled so all the empty fields must be: 0.

(ofJ1Jof1fr1Jof1]ofof1]

[1]AfJoJaf[B[C[1]0]O]1]

This row the number 0 must be filled once and the number 0 twice. Two numbers 1 cannot both be
filled at position B and C so the solution at position A is 1.

(1l1foJaf [ [1fJoJof1]

(AlBJOJ1[1|C|[DJEJ1]F]

This row must be completed with two times 1 and four times O.
At the fields A and B at least one 1 is needed, two zeros are not possible. The fields C, D and E must
be filled with at least one number 1 as well. At position F only a 0 can be placed.

| lofaJaf | [ [1]0]
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Binary Sudoku with vertical patterns:

1 1/0(1|0(0|1(0f1]0(1|0
0 oj{1/0{1|1(0|1|1]0]|0|1
0|1 1/]0{0|1/0({1]0|1|1]|0
1 1(0(1|1|(0(1|0(0|1]0(1
0 o|j1/0{0|1/1(0|1|0|0]|1
110 111(0|1/0{1|0|1|1]|0
0|1 o(1/1|0f(0|1|0|0|1(1
0 o|{1/0|0|1|1|0|1]1]|0|0
1 0 o|1/0/0|1(0(1|1|0|0
1|0 o(oj1|1j0|1j0|0|1]1
0 1 1/0(1|0/1(0|1]|0|1]|1
1 1/0(1|0f(1(0|1|{0O(1]|0(0O
0|1 1{oj1|0/0(1(1|0|1]1
110 0(1/1|0|(1|0|0]|1]|0]|0

This binary Sudoku variant has an extra rule, ate the colored positions with equal color the numbers or
positions filled with 0 must be equal with the ones filled with 1. So the blue positions in column one
and two contain seven times a 1 and seven times a 0. The same applies to the white positions in
column one and two.
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Binary Sudoku with vertical and horizontal patterns:

011 1/0/1/1]0 0(0|1]|0
1)1 111001 1/1/0]0
00 0/0/1 /01 O[1/,0]1
01 110/ 1/0001/0) 11
1,0 1/0(1(0{1/0|1|1/00
1.0 0(1/0/0{1{1{0[{1|1]|0
01 0|1/0/1{0(1]0/0/1 1
1 0 101/ 0{1{0|1/0/0]|1
111 0j1/0|{1/0/1/0|1(0|0
0r0 o|jo(1/0{141/00/11
10 111/0/1{0]0|1/01]|0
01 1/01/0/1]011|1,0]0
110 0/0/1/1/0[1({0|1]0]1
0f1 o|j1/0[1{0/0{1]0/11

This variant has one extra rule, the horizontal fields marked with a color at the bottom the numbers of
1 are equal to that with 0.

At row one and two the fields are filed with: I===f.
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